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















  






















































 

140






    








































































































145 















    






 


  






































  









































150 



















































 
































 


  













   









155 













































































 

  












160





















  














  




 


  








  




















































165 





















































































        

























170 









 



















    
 



























































































175 










  










1) Dotted in orig. Alternately, could keep the dot and reduce the value of the next 2 flags by ½..
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Part 2





   
    

 

1)


  

 




      
















     










5





 


  
 





  
































 




































    














10 

















 


























 





































 







 




















15














































































































20 























































































    













25 


















 




























  























































30 



































































































  

35 




























































































-4-

1) 4 rhythm flags ½ value in orig.



40 

















































































 

























  




    

45










 
























  

















































50 











 
  

 












































































 

55 












 


















































    
 




































60 









































 



 

























 


 






























65 















































   



 












 





  







































 







70 























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